Large radial solutions of an overdetermined eigenvalue problems for the polyharmonic operator

SAMI BARAKET, WAFA MTAOUAA, AND IBRAHIM ZOUHIR

ABSTRACT. We consider an eigenvalue problem for the polyharmonic operator, with overdetermined boundary conditions. We give radial solutions on balls and those solutions are expressed by the mean of Bessel functions.

2010 Mathematics Subject Classification. 35B25, 35B30, 35J40, 35B60, 31B30. Key words and phrases. Polyharmonic operator; overdetermined problem; radial solutions.

1. Introduction

In this paper, we are interested in the overdetermined eigenvalue problems for the polyharmonic operator given by:

$$(P_m) \qquad \begin{cases} (-1)^m \Delta^m u = \lambda u + \mu & \text{ in } B(0, R), \\ u = a, \ \frac{\partial u}{\partial \nu} = b & \text{ on } \partial B(0, R), \\ \Delta u = c_1, \ \dots, \Delta^{m-1} u = c_{m-1} & \text{ on } \partial B(0, R) & \text{ if } m \ge 2, \end{cases}$$

where *m* is a positive integer, $\lambda > 0$, $\mu, a, b \in \mathbb{R}$, $c_p \in \mathbb{R}$, $\forall p \in \{1, ..., m-1\}$, B(0, R)is an N-ball of raduis R in \mathbb{R}^N with $N \ge 2$ and $\frac{\partial}{\partial \nu}$ is the outward normal derivative.

When m = 1, $\lambda = 0$, $\mu = 1$ and a = 0, problem (P_1) writes

$$\begin{cases} \Delta u = -1 & \text{in } B(0, R), \\ u = 0, & \frac{\partial u}{\partial \nu} = b & \text{on } \partial B(0, R). \end{cases}$$
(1)

Serrin [7] showed that (1) admits a solution u on the ball of radius R = N|b| and u is radially symmetric given by

$$u = \frac{R^2 - r^2}{2N}.$$

When m = 2, $\lambda = 0$, $\mu = -1$ and a = b = 0, problem (P₂) writes

$$\begin{cases} \Delta^2 u = -1 & \text{in } B(0, R), \\ u = \frac{\partial u}{\partial \nu} = 0, \quad \Delta u = c_1 & \text{on } \partial B(0, R). \end{cases}$$
(2)

Received March 9, 2023. May 9, 2023.

Bennett [1] showed that (2) admits a solution u on the ball of radius $R = [|c_1|(N^2 + 2N)]^{1/2}$ and u is radially symmetric given by

$$u = -\frac{1}{2N} \left(\frac{N+2}{4} (Nc_1)^2 + \frac{Nc_1}{2}r^2 + \frac{1}{4(N+2)}r^4 \right)$$

When m = 2, $\lambda = 0$, $\mu = 1$ and a = b = 0, problem (P₂) writes

$$\begin{cases} \Delta^2 u = 1 & \text{in } B(0, R), \\ u = \frac{\partial u}{\partial \nu} = 0, \quad \Delta u = c_1 & \text{on } \partial B(0, R). \end{cases}$$
(3)

Dalmaso [2] showed that (3) admits a solution u on the ball of radius $R = [c_1(N^2 + 2N)]^{1/2}$ and u is radially symmetric given by

$$u = \frac{(R^2 - r^2)^2}{8N(N+2)}.$$

In the case m=2, we have considered in [4] the following problem :

$$(P_{2,\tau}) \qquad \begin{cases} L_{\tau}u = \Delta^2 u - \tau \Delta u = \lambda u + \mu & \text{in } B(0,1), \\ \\ u = a, \quad \frac{\partial u}{\partial \nu} = b, \quad \Delta u = c_1 & \text{on } \partial B(0,1), \end{cases}$$

with $\tau \geq 0$. Under some conditions, we prove:

Theorem 1.1. Let $\beta := \frac{N-2}{2}$, $\theta := \left(\frac{\sqrt{\tau^2 + 4\lambda} - \tau}{2}\right)^{\frac{1}{2}}$ and consider the Bessel function of the first kind of order β denoted by J_{β} . Then, we have the following.

(i) Suppose $\mu = 0$, $a = c_1 = 0$, $b \neq 0$ and θ satisfies $J_{\beta}(\theta) = 0$. Then, there exists a radial solution to problem $(P_{2,\tau})$, given by

$$u(x) = v(r) = \frac{b}{\theta J'_{\beta}(\theta)} r^{-\beta} J_{\beta}(\theta r), \qquad \forall r = |x| \in (0, 1].$$

(ii) Suppose $\mu = 0$, $a \neq 0$, b = 0, $c_1 = -\theta^2 a$ and θ satisfies $\theta J'_{\beta}(\theta) - \beta J_{\beta}(\theta) = 0$. Then, there exists a radial solution to problem $(P_{2,\tau})$, given by

$$u(x) = v(r) = \frac{a}{J_{\beta}(\theta)} r^{-\beta} J_{\beta}(\theta r), \qquad \forall r = |x| \in (0, 1].$$

(iii) Suppose $\mu \neq 0$, a = b = 0, $c_1 = -\frac{\theta^2 \mu}{\lambda}$ and θ satisfies $\theta J'_{\beta}(\theta) - \beta J_{\beta}(\theta) = 0$. Then, there exists a radial solution to problem $(P_{2,\tau})$, given by

$$u(x) = v(r) = \frac{\mu}{\lambda} \left[\frac{1}{J_{\beta}(\theta)} r^{-\beta} J_{\beta}(\theta r) - 1 \right], \qquad \forall r = |x| \in (0, 1].$$

Our result deals with radial solutions of problem (P_m) when B(0, R) is an N-ball of raduis R. Let $\beta := \frac{N-2}{2}$ and consider the Bessel function of the first kind of order β denoted by J_{β} .

We have the following theorem.

240

Theorem 1.2. Let B(0, R) the ball in \mathbb{R}^N with $N \ge 2$. Then, we have the following. 1- Suppose $\mu = 0$, $a = c_p = 0$, $b \ne 0$ and R satisfies $J_{\beta}(\lambda^{\frac{1}{2m}}R) = 0$. Then, the problem (P_m) admits a radial solution, given by :

$$u(x) = v(r) = \frac{b}{\lambda^{\frac{1}{2m}} J'_{\beta}(\lambda^{\frac{1}{2m}} R)} \left(\frac{R}{r}\right)^{\beta} J_{\beta}(\lambda^{\frac{1}{2m}} r), \qquad \forall r = |x| \in (0, R]$$

2- Suppose $\mu = 0, a \neq 0, b = 0, c_p = (-1)^p \lambda^{\frac{p}{m}} a, \forall p \in \{1, ..., m-1\} and R satisfies <math>\lambda^{\frac{1}{2m}} R J'_{\beta}(\lambda^{\frac{1}{2m}} R) - \beta J_{\beta}(\lambda^{\frac{1}{2m}} R) = 0$. Then, the problem (P_m) admits a radial solution, given by :

$$u(x) = v(r) = \frac{a}{J_{\beta}(\lambda^{\frac{1}{2m}}R)} \left(\frac{R}{r}\right)^{\beta} J_{\beta}(\lambda^{\frac{1}{2m}}r), \qquad \forall r = |x| \in (0, R].$$

3- Suppose $\mu \neq 0$, $a \in \mathbb{R}$, b = 0, $c_p = (-1)^p \lambda^{\frac{p}{m}} \left[a + \frac{\mu}{\lambda} \right]$, $\forall p \in \{1, ..., m-1\}$ and R satisfies $\lambda^{\frac{1}{2m}} R J'_{\beta}(\lambda^{\frac{1}{2m}} R) - \beta J_{\beta}(\lambda^{\frac{1}{2m}} R) = 0$. Then, the problem (P_m) admits a radial solution, given by :

$$u(x) = v(r) = \frac{\mu}{\lambda} \left[\frac{\left(\frac{\lambda a}{\mu} + 1\right)}{J_{\beta}(\lambda^{\frac{1}{2m}}R)} \left(\frac{R}{r}\right)^{\beta} J_{\beta}(\lambda^{\frac{1}{2m}}r) - 1 \right], \qquad \forall r = |x| \in (0, R].$$

Remark 1.1. Let B(0, R) the ball in \mathbb{R}^3 . Then, we have the following.

1- Suppose $\mu = 0$, $a = c_p = 0$, $b \neq 0$ and $R = k\pi\lambda^{-\frac{1}{2m}}, \forall k \in \mathbb{N}^*$. Then, the problem (P_m) admits a radial solution, given by :

$$u(x) = v(r) = \frac{(-1)^k k \pi b}{\lambda^{\frac{1}{2m}}} \frac{\sin(\lambda^{\frac{1}{2m}} r)}{\lambda^{\frac{1}{2m}} r}, \qquad \forall r = |x| \in (0, R].$$

2- Suppose $\mu = 0, a \neq 0, b = 0, c_p = (-1)^p \lambda^{\frac{p}{m}} a, \forall p \in \{1, ..., m-1\}$ and R satisfies $\tan(\lambda^{\frac{1}{2m}} R) = \lambda^{\frac{1}{2m}} R$. Then, the problem (P_m) admits a radial solution, given by :

$$u(x) = v(r) = a \frac{R}{r} \frac{\sin(\lambda^{\frac{1}{2m}} r)}{\sin(\lambda^{\frac{1}{2m}} R)}, \quad \forall r = |x| \in (0, R].$$

3- Suppose $\mu \neq 0, a \in \mathbb{R}, b = 0, c_p = (-1)^p \lambda^{\frac{p}{m}} \left[a + \frac{\mu}{\lambda}\right], \forall p \in \{1, ..., m - 1\}$ and R satisfies $\tan(\lambda^{\frac{1}{2m}} R) = \lambda^{\frac{1}{2m}} R$. Then, the problem (P_m) admits a radial solution, given by :

$$u(x) = v(r) = \frac{\mu}{\lambda} \left[\left(\left(\frac{\lambda a}{\mu} + 1\right) \frac{R}{r} \frac{\sin(\lambda^{\frac{1}{2m}} r)}{\sin(\lambda^{\frac{1}{2m}} R)} \right) - 1 \right], \qquad \forall r = |x| \in (0, R]$$

2. Proof of Theorem 1.2

In this section we prove Theorem 1.2. We assume that the domain is a ball in \mathbb{R}^N with $N \geq 2$ and for sake of simplicity, we consider the ball B(0, R). As mentioned in the Introduction, radial solutions for problem (P_m) are constructed with the use of Bessel functions.

We recall that the Bessel functions, discovered by Bernoulli and used by Bessel as part of his studies of the movement of the planets induced by gravitational interaction, are canonical solutions y(r) of the differential Bessel equation:

$$r^{2}y''(r) + ry'(r) + (r^{2} - \alpha^{2})y(r) = 0, \qquad (4)$$

for any real or complex number α . Most often, α is a natural integer (then called the order of the function), or a half-integer.

There are two kinds of Bessel functions:

- The Bessel functions of the first kind, denoted by J_n , solutions of the above differential equation which are defined at 0.
- The Bessel functions of the second kind, denoted by Y_n , solutions which are not defined in 0 (but which have an infinite limit in 0).

We also recall that for integer values $\alpha = n$, the Bessel functions of the first kind can be represented by integrals given by

$$J_n(x) = \frac{1}{\pi} \int_0^\pi \cos(nt - x\sin t) \,\mathrm{d}t$$

or else by

$$J_n(x) = \frac{1}{2\pi} \int_{-\pi}^{\pi} e^{-i(nt - x\sin t)} dt.$$

For $\alpha = n + \frac{1}{2}$, the Bessel functions of the first kind given by

$$J_{n+\frac{1}{2}}(x) = (-1)^n \sqrt{\frac{2x}{\pi}} x^n \left(\frac{d}{xdx}\right)^n \left\{\frac{\sin x}{x}\right\}, \quad \forall x \in \mathbb{R}^+.$$
(5)

This definition can extend to the non-integer case of α (for Re(x) > 0), by adding another term

$$J_{\alpha}(x) = \frac{1}{\pi} \int_0^{\pi} \cos(\alpha t - x \sin t) \,\mathrm{d}t - \frac{\sin(\alpha \pi)}{\pi} \int_0^{\infty} \mathrm{e}^{-x \sinh(t) - \alpha t} \,\mathrm{d}t t.$$

Here, we consider the Bessel functions of the first kind and we denote them by J_{β} , where $\beta = \frac{N-2}{2}$ $(N \ge 2)$ is an integer or half-integer.

Now, writing $y(r) = J_{\beta}(\lambda^{\frac{1}{2m}}r)$ with $r \in (0, R]$ and taking $\alpha = \beta$ in the equation (4), we are led to the equation

$$J_{\beta}^{''}(\lambda^{\frac{1}{2m}}r) + \frac{1}{\lambda^{\frac{1}{2m}}r}J_{\beta}^{'}(\lambda^{\frac{1}{2m}}r) + \left(1 - \frac{\beta^{2}}{\lambda^{\frac{1}{m}}r^{2}}\right)J_{\beta}(\lambda^{\frac{1}{2m}}r) = 0, \quad \forall r \in (0, R].$$
(6)

Proof of Theorem 1.2. 1- Let $\mu = 0, b \neq 0$ and suppose that R satisfies $J_{\beta}(\lambda^{\frac{1}{2m}}R) = 0$. Consider the radial function

$$u(x) = v(r) = \frac{b}{\lambda^{\frac{1}{2m}} J'_{\beta}(\lambda^{\frac{1}{2m}} R)} \left(\frac{R}{r}\right)^{\beta} J_{\beta}(\lambda^{\frac{1}{2m}} r), \qquad \forall r = |x| \in (0, R].$$
(7)

We have

$$v'(r) = -\frac{b\beta R^{\beta}}{\lambda^{\frac{1}{2m}} J_{\beta}'(\lambda^{\frac{1}{2m}} R)} r^{-\beta-1} J_{\beta}(\lambda^{\frac{1}{2m}} r) + \frac{bR^{\beta}}{J_{\beta}'(\lambda^{\frac{1}{2m}} R)} r^{-\beta} J_{\beta}'(\lambda^{\frac{1}{2m}} r).$$

Using (6), we have

$$v^{''}(r) = -(2\beta + 1)r^{-1} \left[-\frac{b\beta R^{\beta}}{\lambda^{\frac{1}{2m}}J_{\beta}'(\lambda^{\frac{1}{2m}}R)} r^{-\beta - 1}J_{\beta}(\lambda^{\frac{1}{2m}}r) + \frac{bR^{\beta}}{J_{\beta}'(\lambda^{\frac{1}{2m}}R)} r^{-\beta}J_{\beta}'(\lambda^{\frac{1}{2m}}r) \right]$$

$$-\frac{\lambda^{\frac{1}{m}}b}{\lambda^{\frac{1}{2m}}J_{\beta}'(\lambda^{\frac{1}{2m}}R)} \left(\frac{R}{r}\right)^{\beta} J_{\beta}(\lambda^{\frac{1}{2m}}r) = -(2\beta+1)r^{-1}v'(r) - \lambda^{\frac{1}{m}}v(r)$$

$$= -(N-1)r^{-1}v'(r) - \lambda^{\frac{1}{m}}v(r).$$

Then

$$-\Delta u(x) = -\left[\frac{N-1}{r}v'(r) + v''(r)\right] = \lambda^{\frac{1}{m}}v(r) = \lambda^{\frac{1}{m}}u(x).$$

By induction, we obtain

$$(-1)^p \Delta^p u(x) = \lambda^{\frac{p}{m}} u(x), \quad \forall p \in \{1, ..., m\}.$$

In particular for p = m, we have

$$(-1)^m \Delta^m u(x) = \lambda u(x), \quad \forall m \ge 1.$$

Then u(x) = v(r) given by (7) is a solution of the equation

$$(-1)^m \Delta^m u = \lambda u$$
 on $B(0, R)$.

Moreover, on ∂B , we have

$$u(x) = v(r)\Big|_{r=R} = \frac{1}{\lambda^{\frac{1}{2m}} J_{\beta}'(\lambda^{\frac{1}{2m}} R)} J_{\beta}(\lambda^{\frac{1}{2m}} R) = 0,$$

$$\begin{aligned} \frac{\partial u}{\partial \nu}(x) &= \nabla u(x) \cdot \vec{\nu}(x) = \frac{1}{r} v'(r) \, \vec{x} \cdot \vec{\nu}(x) \Big|_{r=R} \\ &= -\frac{b\beta R^{\beta}}{\lambda^{\frac{1}{2m}} J'_{\beta}(\lambda^{\frac{1}{2m}} R)} \, r^{-\beta-1} J_{\beta}(\lambda^{\frac{1}{2m}} r) + \frac{bR^{\beta}}{J'_{\beta}(\lambda^{\frac{1}{2m}} R)} \, r^{-\beta} J'_{\beta}(\lambda^{\frac{1}{2m}} r)) \Big|_{r=R} = b \end{aligned}$$

and

$$\Delta u(x) = (-1)^1 \lambda^{\frac{1}{m}} u(x) = 0.$$

By induction, for $m \ge 2$ we obtain

$$\Delta^{p} u(x) = (-1)^{p} \lambda^{\frac{p}{m}} u(x), \quad \forall p \in \{1, ..., m-1\},$$

then

$$c_p = \Delta^p u(x) = (-1)^p \lambda^{\frac{p}{m}} u(x) = 0, \quad \forall p \in \{1, ..., m-1\}.$$

2- Let $\mu = 0$, $a \neq 0$ and suppose that R satisfies $\lambda^{\frac{1}{2m}} R J_{\beta}'(\lambda^{\frac{1}{2m}} R) - \beta J_{\beta}(\lambda^{\frac{1}{2m}} R) = 0$. Consider the radial function

$$u(x) := v(r) = \frac{a}{J_{\beta}(\lambda^{\frac{1}{2m}}R)} \left(\frac{R}{r}\right)^{\beta} J_{\beta}(\lambda^{\frac{1}{2m}}r), \qquad \forall r = |x| \in (0, R].$$
(8)

We have

$$v'(r) = -\frac{a\beta R^{\beta}}{J_{\beta}(\lambda^{\frac{1}{2m}}R)} r^{-\beta-1}J_{\beta}(\lambda^{\frac{1}{2m}}r) + \frac{a\lambda^{\frac{1}{2m}}R^{\beta}}{J_{\beta}(\lambda^{\frac{1}{2m}}R)} r^{-\beta}J_{\beta}'(\lambda^{\frac{1}{2m}}r).$$

Using (6), we have

$$v''(r) = -(2\beta + 1)r^{-1} \left[-\frac{a\beta R^{\beta}}{J_{\beta}(\lambda^{\frac{1}{2m}}R)} r^{-\beta - 1}J_{\beta}(\lambda^{\frac{1}{2m}}r) + \frac{a\lambda^{\frac{1}{2m}}R^{\beta}}{J_{\beta}(\lambda^{\frac{1}{2m}}R)} r^{-\beta}J_{\beta}'(\lambda^{\frac{1}{2m}}r) \right] - \lambda^{\frac{1}{m}} \frac{a}{J_{\beta}(\lambda^{\frac{1}{2m}}R)} \left(\frac{R}{r}\right)^{\beta}J_{\beta}(\lambda^{\frac{1}{2m}}r) = -(2\beta + 1)r^{-1}v'(r) - \lambda^{\frac{1}{m}}v(r) = -(N - 1)r^{-1}v'(r) - \lambda^{\frac{1}{m}}v(r).$$

Then

$$-\Delta u(x) = -\left[\frac{N-1}{r}v'(r) + v''(r)\right] = \lambda^{\frac{1}{m}}v(r) = \lambda^{\frac{1}{m}}u(x).$$

By induction, we obtain

$$(-1)^p \Delta^p u(x) = \lambda^{\frac{p}{m}} u(x), \quad \forall p \in \{1, ..., m\}.$$

In particular for p = m, we have

$$(-1)^m \Delta^m u(x) = \lambda u(x), \quad \forall m \ge 1.$$

Then u(x) = v(r) given by (8) is a solution of the equation

_

 $(-1)^m \Delta^m u = \lambda u$ on B(0, R).

Moreover, on ∂B , we have

$$u(x) = v(r)\Big|_{r=R} = a_{t}$$

$$\begin{aligned} \frac{\partial u}{\partial \nu}(x) &= \nabla u(x) \cdot \vec{\nu}(x) = \frac{1}{r} v'(r) \left. \vec{x} \cdot \vec{\nu}(x) \right|_{r=R} \\ &= -\frac{a}{R J_{\beta}(\lambda^{\frac{1}{2m}} R)} \left(\lambda^{\frac{1}{2m}} R J_{\beta}'(\lambda^{\frac{1}{2m}} R) - \beta J_{\beta}(\lambda^{\frac{1}{2m}} R) \right) = 0 \end{aligned}$$

and

$$\Delta u(x) = (-1)^1 \lambda^{\frac{1}{m}} u(x) = (-1)^1 \lambda^{\frac{1}{m}} a.$$

By induction, for $m \ge 2$ we obtain

$$\Delta^{p} u(x) = (-1)^{p} \lambda^{\frac{p}{m}} u(x), \quad \forall p \in \{1, ..., m-1\},$$

then

$$c_p = \Delta^p u(x) = (-1)^p \lambda^{\frac{p}{m}} u(x) = (-1)^p \lambda^{\frac{p}{m}} a, \quad \forall p \in \{1, ..., m-1\}.$$

3 - Let $\mu \neq 0$, $a \in \mathbb{R}$ and suppose that R satisfies $\lambda^{\frac{1}{2m}} R J_{\beta}'(\lambda^{\frac{1}{2m}} R) - \beta J_{\beta}(\lambda^{\frac{1}{2m}} R) = 0$. Consider the radial function

$$u(x) = v(r) = \frac{\mu}{\lambda} \left[\frac{\left(\frac{\lambda a}{\mu} + 1\right)}{J_{\beta}(\lambda^{\frac{1}{2m}}R)} \left(\frac{R}{r}\right)^{\beta} J_{\beta}(\lambda^{\frac{1}{2m}}r) - 1 \right], \qquad \forall r = |x| \in (0, R].$$
(9)

We have

$$v'(r) = \frac{\mu}{\lambda} \left[\frac{-(\frac{\lambda a}{\mu} + 1)\beta R^{\beta}}{J_{\beta}(\lambda^{\frac{1}{2m}}R)} r^{-\beta-1} J_{\beta}(\lambda^{\frac{1}{2m}}r) + \frac{(\frac{\lambda a}{\mu} + 1)\lambda^{\frac{1}{2m}}R^{\beta}}{J_{\beta}(\lambda^{\frac{1}{2m}}R)} r^{-\beta} J_{\beta}'(\lambda^{\frac{1}{2m}}r) \right].$$

Using (6), we obtain

$$\begin{split} v^{''}(r) &= -(2\beta+1)r^{-1}\frac{\mu}{\lambda} \left[\frac{-(\frac{\lambda a}{\mu}+1)\beta R^{\beta}}{J_{\beta}(\lambda^{\frac{1}{2m}}R)} \ r^{-\beta-1}J_{\beta}(\lambda^{\frac{1}{2m}}r) + \frac{(\frac{\lambda a}{\mu}+1)\lambda^{\frac{1}{2m}}R^{\beta}}{J_{\beta}(\lambda^{\frac{1}{2m}}R)} \ r^{-\beta}J_{\beta}^{'}(\lambda^{\frac{1}{2m}}r) \right] \\ &- \lambda^{\frac{1}{m}} \left[\frac{\mu}{\lambda} \frac{(\frac{\lambda a}{\mu}+1)}{J_{\beta}(\lambda^{\frac{1}{2m}}R)} \ \left(\frac{R}{r}\right)^{\beta}J_{\beta}(\lambda^{\frac{1}{2m}}r) \right] = -(2\beta+1)r^{-1}v'(r) - \lambda^{\frac{1}{m}} \left[v(r) + \frac{\mu}{\lambda} \right] \\ &= -(N-1)r^{-1}v'(r) - \lambda^{\frac{1}{m}} \left[v(r) + \frac{\mu}{\lambda} \right]. \end{split}$$

Thus

$$-\Delta u(x) = \left[\frac{N-1}{r}v'(r) + v''(r)\right] = \lambda^{\frac{1}{m}}\left[v(r) + \frac{\mu}{\lambda}\right] = \lambda^{\frac{1}{m}}\left[u(x) + \frac{\mu}{\lambda}\right].$$

By induction, we obtain

$$(-1)^{p}\Delta^{p}u(x) = \lambda^{\frac{p}{m}} \left[u(x) + \frac{\mu}{\lambda} \right], \quad \forall p \in \{1, ..., m\}.$$

In particular for p = m, we have

$$(-1)^m \Delta^m u(x) = \lambda u(x) + \mu, \ \forall m \ge 1.$$

Then u(x) = v(r) given by (9) is a solution of the equation

$$(-1)^m \Delta^m u = \lambda u + \mu$$
 on $B(0, R)$.

Moreover, on ∂B , we have

$$\begin{split} u(x) &= v(r) \Big|_{r=R} = a, \\ \frac{\partial u}{\partial \nu}(x) &= \nabla u(x) \cdot \vec{\nu}(x) = \frac{1}{r} v'(r) \ \vec{x} \cdot \vec{\nu}(x) \Big|_{r=R} \\ &= \frac{\mu(\frac{\lambda a}{\mu} + 1)}{\lambda J_{\beta}(\lambda^{\frac{1}{2m}} R)} \Big(\lambda^{\frac{1}{2m}} R J_{\beta}'(\lambda^{\frac{1}{2m}} R) - \beta J_{\beta}(\lambda^{\frac{1}{2m}} R) \Big) = 0 \end{split}$$

and

$$\Delta u(x) = -\lambda^{\frac{1}{m}} \left[u(x) + \frac{\mu}{\lambda} \right] = -\lambda^{\frac{1}{m}} \left[a + \frac{\mu}{\lambda} \right].$$

By induction, for $m \ge 2$ we obtain

$$\Delta^{p} u(x) = (-1)^{p} \lambda^{\frac{p}{m}} \left[u(x) + \frac{\mu}{\lambda} \right], \ \forall p \in \{1, ..., m-1\},$$

and so

$$c_p = \Delta^p u(x) = (-1)^p \lambda^{\frac{p}{m}} \left[a + \frac{\mu}{\lambda} \right], \ \forall p \in \{1, ..., m-1\}.$$

Acknowledgment

The authors extend their appreciation to the Deanship of Scientific Research at King Khalid University, Abha, KSA for funding this work through Research Group under grant number (RGP2/383/46).

References

- A. Bennett, Symmetry in an overdetermined fourth order elliptic boundary value problem, SIAM J. Math. Anal. 17 (1986), 1354–1358.
- [2] R. Dalmasso, Un problème de symétrie pour une équation biharmonique, Ann. Fac. Sci. Toulouse 11 (1990), 45–53.
- [3] R. Dalmasso, Symmetry problems for elliptic systems, Hokkaido Math. J. 25 (1996), 107–117.
- [4] S. Khenissy and I. Zouhir, On an overdetermined eigenvalue problem with MEMS operato, To Appear in *Maths reports*.
- [5] L.E. Payne and P.W. Schaefer, On overdetermined boundary value problems for the biharmonic operator, J. Math. Anal. Appl. 187 (1994), 598–616.
- [6] P. Pucci and J. Serrin, A general variational identity, Indiana Univ. Math. J. 35 (1986), 681–703.
- [7] J. Serrin, A symmetry problem in potential theory, Arch. Rational Mech. Anal. 43 (1971), 304–318.
- [8] H.F. Weinberger, Remark on the preceding paper of Serrin, Arch. Rational Mech. Anal. 43 (1971), 319–320.
- [9] G.N. Watson, Treatise on the Theory of Bessel functions, Second Ed., Cambridge University Press, Cambridge, England, 1962.
- [10] N.B. Willms and G.M.L. Gladwell, Saddle points and overdetermined problems for the Helmholtz equation, Z angew. Math. Phys. 45 (1994), 1–26.

(Sami Baraket) DEPARTMENT OF MATHEMATICS AND STATISTICS, COLLEGE OF SCIENCE, IMAM MOHAMMAD IBN SAUD ISLAMIC UNIVERSITY (IMSIU), RIYADH, SAUDI ARABIA *E-mail address*: SMBaraket@imamu.edu.sa

(Wafa Mtaouaa) MATHEMATICS DEPARTMENT, FACULTY OF SCIENCES AND ARTS, KING KHALID UNIVERSITY, MUHAYIL ASIR, SAUDI ARABIA *E-mail address*: mtawaa.wafa@yahoo.fr

(Ibrahim Zouhir) DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE OF TUNIS, UR13ES32, UNIVERSITY OF TUNIS EL MANAR, TUNISIA *E-mail address*: ibrahim.zouhir@fst.utm.tn